GSE PreCalculus: Unit 2 — Conics
Review Sheet 2

Identify each type of conic.
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11. Write the equa’uon of the parabola with focus (2, 1) and vertex at (-1,-1) - L{ 'l'; _‘;} 3‘3
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12. Write the equation of the ellipse giyen the following information:
® major axis points: (2, 5{and (2,-7) =l  Ch (2, -1)

minor axis points: (-1{<1)and (5,-1) b=
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13. Wr‘lte the equation of twf_1e hyperbola with foci (1, 5) (1, -3) and vertices (1 3) 1,-1)
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15. Write the equation of the elllpse with i ) (-1 0) and covertices (2, 2) (2 -2)
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Cumulative Review Questions: s o L s 3C'-Z') + OQQ 3(5) + 8-
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